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Note '— Answers may be written either in English or in
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throughout the paper.
froqoft ; wm-wwmaﬁqﬁmﬂaﬁmﬁww#‘
g, 3T @ IR W TRIAA TE B} BN WIEC

Attempt any five questions.

All questions carry equal marks.
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1. (a) Discuss the nature of the following instruments

signed by the executant A -

(i) "I promise to pay B Rs.5 lakh if he goes to

Canada for a job.”

(i) “T owe Rs. 5000 to B which is payable after

2 years.”

(i) “Please pay X or order Rs. 2 lakh sixty days
after sight”, A writes 10 B.

(iv) “I promise to pay Rs. 1 lakh to P’s daughter”
(P has two daughters).

(b) How is & cheque different from a Bill of
Exchange ? Elaborate.
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2. What do you mean by the term ‘Holder’ of a
negotiable instrument ? Is the definition given in the
Negotiable Instruments Act, 1881 free from
anomalies 7 How are the recommendations of Law
Commission of India and the English Law on the point
helpful in this regard ? '
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3. Critically examine the concept of “holder in due
course” in India.

s X a “holder-in-due-course” in the following cases :

(1) ‘A’ gave a bearer cheque of ¥ 50,000/- to X
on his birthday to purchase a good laptop.

(ii) ‘A’ is the payee of a bearer cheque. ‘A’
misplaces the cheque in the Delhi Metro. ‘B’
picks it up and delivers it to ‘X’.

P.T.O.
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4. Explain in brief ‘General’, ‘Special’, ‘Account Payee’
crossing of cheques. Discuss the protection available
to the collecting banker under Section 131 of the
Negotiable Instruments Act, 1881 with the help of

decided cases.
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5.  What do you understand by the term “dishonour of a
cheque” ? What are its legal consequences ?

A issued 24 post dated cheques totalling ¥ 5 lakh in
favour of “X & Company (Pvt) Ltd.” for purchasing



5363 5

2 dream-bike. The first cheque was dated 1st July

2013. A instructed its banker to stop payment on any
cheque on 25 June 2013, When “X & Company {Pvt)
Lid.” presented the cheque on 1st July 2013, it was®
reurned unpaid by the banker of *A’. X & Company
(Pvt) Ltd. approaches you for advice.
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&. Discuss the scope of “the duty to disclese™ in 1he

contract of insurance.

X insured his life with Birla Sun Life Insurance Co.
Ltd. At ¢he time of proposal, he replied to & oumber
of questions, contained in the proposel farm, including
as ‘@ whether he was 3 graduste or pot. He replied
in affirmative. But in facl, he could not pass his
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graduation degree examination. After 3 years of this
policy, he met with an accident and died. Can X
recover the insurance benrefit and amount of policy
from the insurer?
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7. Anslyse the prigeiples of construction/Interpretation
of insurance policies.

One bank ‘P’ took two insurance policies with Oriental
Insurance Co. Ltd. One was a cash insurance policy
and the other a burglary insurance policy for T 25
lakh, covering a period of one year. During the
currency of the policies, the bank was burgled one
night and the cashicr‘g cash chest was found missing.
The bank reported the matter te the police and filed
a claim with the insurer for the value of pledged
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jewellery in the stolen cash box along with % 10,000
in cash. The insurance surveyor reported that the
jewellery had not been kept in a safe locker and so
the theft was not covered under the po]ic);. The record
showed that in the insurance proposal form, the bank
had answered in the affirmative to the question
whether all valuables were secured in “burglary
resisting safes when the premises are locked.” The
insures disclaimed liability.

Decide.
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8.

Write short notes on any four:
(a) Indorsement in blank and indorsement in full
(b) Material Alteration of a Negotiable Instrument
(c) Effect of A/C Payee Crossing
(d) Causa Proxima
(¢) Insurable Interest
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